Run 5753 triggerwise, sums: All

— Entries: 3975733
i Mean: £331.2623 +- 45275
400 Std Dew: 7811.3725 +- 3.2014
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Run 5753 triggerwise, sums: Beam ON, Laser ON
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140 1_ — Helicity==0
1005 — Helicity==1
B Entries: 1262109
100 uE Mean: 9137.5003 +- 6.5284

B Stdl Dev: TEM. 06 +5 46163
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B0 :_ Mizan: S076.7588 41 65525
B Std Dev: TEZ3.3300 +- 4.6404
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Run 5753 triggerwise, sums: Beam OFF

'IEE‘ Entries: 136
E : Mlean: 2214.5376 4 5075796
'I 1
E Std Daerv: ¥ 4620 4+~ 35883130
14
12
10+
E -
E -
4 -
Ery J“HMWLLH
D_IlllllllllllﬂIIIHI'IHI'II'IIHII II|II|
0 2000 4000 6000 BODOD 10000 12000 14000 16000 18000 20000 22000
sum
Run 5753 triggerwise, sums: Beam ON, Laser OFF
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